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This sentence contains three a's, three c's, two d's, twenly-cix e's, five f's, three g's,
eight h's, thirteen i's, two |'s, sixt=enn's, nine o's, six r's, bwenty-seven s's, twanty-two t's,
two u's, five v's, elght w's, Tour x's, five y's, and only one 2.
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This sentence contains three a's, three c's, two d's, twenty-six e's, five Fs, three g's,
eight h's, thirteeni's, twao I's, Sxteenn’s, nine a's, six r's, bwenty-seven 5's, bwenty-two t's,
e/ two u's, five w's, eight w's, four x's, five y's, and only one z.
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